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QUESTION 1

Which three protocols could an NSX administrator use to transfer log messages to a remote log server? (Choose
three.)

A. SSL

B. HTTPS

C.TLS

D. UDP

E. SSH

F. TCP

Correct Answer: CDF

https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/certification/vmware-2vo-41.20exam-prep-
guide.pdf

QUESTION 2

An administrator has a requirement to have consistent policy configuration and enforcement across NSXT instances.
What feature of NSX-T Data Center fulfills this requirement?

A. Load balancer

B. Policy-driven configuration
C. Multi-hypervisor support
D. Federation

Correct Answer: B

QUESTION 3

Which two statements are true about the implementation of multicast in NSX-T Data Center? (Choose two.)
A. Multicast routing is implemented with PIM Sparse-Mode.

B. IGMP Snooping is used to populate multicast forwarding tables.

C. Tier-0 gateways can be the Rendezvous Point.

D. Multicast is supported in ESXi and KVM transport nodes.

E. An Edge can be the Rendezvous Poaint.
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Correct Answer: AB

https://docs.vmware.com/en/VMware-NSX-T-Data- Center/3.0/nsxt_30_admin.pdf

QUESTION 4

Which tool injects packets and provides various observation points along the packet\\'s path between two NSX-T
managed objects?

A. SPAN mirrors

B. Port Mirroring

C. Traceflow

D. IPFIX

Correct Answer: C

Reference: https://www.google.com/url?sa=tandrct=jandq=andesrc=sandsource=webandcd=7andved=2ahUKEwjw0
duct_nmAhUJ1BoKHVrgACcQFjAGegQIBxACandurl=ftp%3A%2F%2Fftp.inwinstack.com%?2 FOther%2FAINSX-

T%2FVMware% 2FVMWare%2520NSX-T%2FDocuments%
2Fnsxt_21_admin.pdfandusg=A0OvVaw2DqgQfqPkhzWQfiJP2SgNbO

QUESTION 5

Which statement is true about an alarm in a Suppressed state?

A. An alarm can be suppressed for a specific duration in days.

B. An alarm can be suppressed for a specific duration in minutes.

C. An alarm can be suppressed for a specific duration in seconds.

D. An alarm can be suppressed for a specific duration in hours.

Correct Answer: D

https://docs.vmware.com/en/VMware-NSX-Intelligence/1.1/user-guide/GUID-
EBD3C5A8-FOAB-4A22BA40-92D61850C1E6.html https://docs.vmware.com/en/\VMware-NSX-T-Data-
Center/3.0/administration/GUID-EB1BB1D3-88924890-BE74-EF43CFC75F19.html

"If you move an alarm into a Suppressed state, you are prompted to specify the duration in hours. After the specified

duration passes, the alarm state reverts to Open. However, if the system determines the condition has been corrected,
the alarm state changes to Resolved.”
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